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Note : This paper is of Thirty Five (35) marks divided into
two (02) Sections A and B. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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Note : Section 'A' contains Five (05) long answer type
questions of Nine and Half (9½) marks each. Learners
are required to answer any Two (02) questions only.

(2×9½=19)
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1. What is the crystal field theory? Discuss the crystal field
splitting in Octahedral complexes.
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2. What is the magnetic susceptibilty? Discuss the Gouy's
method for the measurement of magnetic susceptibility.
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3. Define the term heamoglobin. Describe the main function
and structure of the heamoglobin.

����	+��	�%�� '�,&� ��	� �� �������� ����#$� ����	+��	�%�� �	� ��-�
���"� #�
� �
 !������ �.�"������#$

4. Attempt any two of the following :

(a) SHAB principle and its limitation.

(b) What are silicones? How are cross linked silicones
prepared?

(c) Nucleophilic subsitituion reaction in squear planner
complexes.
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5. What is the orgel diagram? Give the limitation of the orgel
diagram. Draw the orgel diagram for the d9 ion both
tetrahedral and octahedral field.
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Note : Section 'B' contains Eight (08) short answer type
questions of Four (04) marks each. Learners are required
to answer any Four (04) questions only. (4×4=16)
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1. Discuss the normal and inverse spinels with suitalbe
example.
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2. What is the trans effect? Discuss the theories of the trans
effect.
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3. Explain any two of the following :

(a) Symbiosis.

(b) Spectrochemical series.

(c) Spin selection rule.
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4. Derive the relationship between stepwise stability constant
and overall stability constant.
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5. What are the metal carbonyl? Explain the bonding and
structure of the [Fe(CO)5].
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6. Write the short note on the biological nitrogen fixation.
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7. [Fe(CN)6]4– ion is diamagnetic and [Fe(CN)6]3– ion is
paramagnetic although both the ions containing strong
ligands explain it with the help of CFT.
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8. Calculate the Ground state term symbol for [Ti(H2O)6]+2,
[V(H2O)6]+2, [Cr(H2O)6]+2 and [CoF6]3– complexes.

[Ti(H2O)6]+2, [V(H2O)6]+2, [Cr(H2O)6]+2 ��� � [CoF6]3–
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